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Question: 1 
   
An engineer finds that a specific HPE switch interface has high error rates. Which two parameters are 
most likely causing this issue? 
Response: 
 
A. Duplex mismatch 
B. Port speed 
C. VLAN misconfiguration 
D. LACP mode 
 

Answer: A,B     
 

Question: 2 
   
During troubleshooting, an engineer finds excessive ARP requests in the network. Which setting could 
mitigate this issue? 
Response: 
 
A. Adjusting MAC aging timers 
B. Enabling DHCP Snooping 
C. Increasing ARP cache size 
D. Configuring proxy ARP 
 

Answer: B     
 

Question: 3 
   
If users experience packet drops during large file transfers across an HPE network, which parameter 
should be checked for performance tuning? 
Response: 
 
A. MTU size 
B. LACP priority 
C. VLAN priority 
D. MAC aging timer 
 

Answer: A     
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Question: 4 
   
To ensure device redundancy in an HPE Campus Access network, which configurations should be 
applied? 
Response: 
 
A. Link Aggregation 
B. Active-Active Failover 
C. DHCP Snooping 
D. VRRP 
 

Answer: A,D     
 

Question: 5 
   
Which settings should be checked first when troubleshooting an HPE switch stack with inter-switch 
latency? 
Response: 
 
A. Stack cable connections 
B. Spanning tree configuration 
C. MTU configuration 
D. Stack firmware versions 
 

Answer: A,C,D     
 

Question: 6 
   
Which log level on HPE switches records events that could lead to serious operational issues if not 
addressed? 
Response: 
 
A. Warning 
B. Debug 
C. Notice 
D. Error 
 

Answer: D     
 

Question: 7 
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A customer requires multiple VLANs on an HPE campus network. Which configuration is essential on the 
switch interfaces connected to other switches to ensure VLAN traffic passes through? 
Response: 
 
A. Configure the interfaces as access ports 
B. Enable LACP on the interfaces 
C. Set the interfaces as trunk ports 
D. Enable DHCP relay on the interfaces 
 

Answer: C     
 

Question: 8 
   
In an HPE network, which scenarios can indicate a configuration issue with Link Aggregation (LACP)? 
Response: 
 
A. Unstable link state 
B. Increased latency on traffic paths 
C. Port flapping 
D. Spanning tree topology changes 
 

Answer: A,B,C     
 

Question: 9 
   
When configuring OSPF for a multi-area design in an HPE network, which feature optimizes routing by 
reducing the number of routes advertised between areas? 
Response: 
 
A. Stub area configuration 
B. Route summarization 
C. Default route propagation 
D. LSA filtering 
 

Answer: B     
 

Question: 10 
   
For enhanced port security in an HPE network, which two configurations can prevent unauthorized 
devices from gaining access? 
Response: 

Visit us at: https://www.certswarrior.com/exam/hpe7-a06



 
A. 802.1X with EAP-TLS 
B. Static IP addresses 
C. MAC-based authentication 
D. IGMP Snooping 
 

Answer: A,C     
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